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Off-Site Learning Packet Day 1 

Property of Exponents Review 

 

 

EXAMPLES:    

1. Simplifying Expressions with Negative Exponents 

 Simplify each expression 

 a.   2−3      b. −(
3

4
)
−4

    

  =
1

23
      =−(

4

3
)
4

= −
44

34
= −

256

81
 

A nonzero quantity raised 

to the zero power is equal 

to 1. 

A nonzero base raised to a 

negative exponent is equal to the 

reciprocal of the base raised to 

the opposite, positive exponent. 

 

1000 = 1 

 

𝑎0 = 1 

7−2 = (
1

7
)
2

=
1

72
 

(
3

2
)
−4

= (
2

3
)
4

 

 

𝑎−𝑛 = (
1

𝑎
)
𝑛

=
1

𝑎𝑛
 

(
𝑎

𝑏
)
−𝑛

= (
𝑏

𝑎
)
𝑛
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 c. (
1

3
)
−2

     d. (−5)−5 

  = (
3

1
)
2

= 32 = 9    = (−
1

5
)
5

= −
1

55
= −

1

3125
 

 

2.   Simplify each expression. Assume all variables nonzero. 

 a.   2𝑥3(−5𝑥)    b.   (
𝑎𝑏4

𝑏7
)
2

  

  = −10𝑥3+1 = −10𝑥4   =
𝑎2𝑏4∙2

𝑏7∙2
=

𝑎2∙𝑏8

𝑏14
=

𝑎2

𝑏14−8
=

𝑎2

𝑏6
 

 c. (5𝑥6)3     d. (−2𝑎3𝑏)−3 

  = 53𝑥6∙3 = 125𝑥18    =
1

(−2𝑎3𝑏)3
=

1

(−2)3𝑎3∙3𝑏3
=

1

−8𝑎9𝑏3
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Name: _________________________________ Date: ______________ Period: _____ 

Off-Site Learning Packet Day 1 

Properties of Exponents 

Simplify the following. 

1. 3𝑟2(−3𝑟3)       1. ______________________ 

 

 

 

2. (4𝑓5𝑔)(2𝑓𝑔3)      2. ______________________ 

 

 

 

3. 
9𝑘3𝑚8

3𝑘5𝑚2        3. ______________________ 

 

 

 

4. 
16𝑝−2𝑞−3

2𝑝−5𝑞−4
       4. ______________________ 

 

 

 

5. 
68𝑓5𝑔−3

4𝑓−3𝑔6
        5. ______________________ 
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6. (−4𝑎3𝑏7)−2       6. ______________________ 

 

 

    

7. 6𝑚4𝑛9(−3𝑚2𝑛3)−2      7. ______________________ 

 

 

 

8. (−5𝑥5𝑦−3𝑧8)3      8. ______________________ 

 

 

 

9. 7𝑔2ℎ3(−2ℎ5𝑘0)−3      9. ______________________ 

 

 

 

10. (
24𝑚7𝑛3

4𝑚𝑛−5
)
−2

       10. _____________________ 

  

 


